
1) Vecteurs rotations instantanées : 

 

Ω��� b1/b0 = ��  ��0 

Ω��� b2/b1 = ��  ��1 

Ω��� b2/b0= ��  ��0 + ��  ��1 

 

2) 

a. 	��(M/R2) = 

�� ���������


�
 = ��  ��2 

 

� ����(M/R2) =

�� ����(�/��) 


�
 = ��  ��2 

 

 

b. 	��(M/R1) = 

�� ���������


�
 = 


�� � ��� 


�
 + Ω��� b2/b1 Λ ��������� = ��  ��2 + ��  ��1 Λ r ��2 = ��  ��2 - r � ��2 

 

c. 	��(M/R0) = 

�  ���������


�
 = 


�� � ��� 


�
 + Ω��� b2/b0 Λ ��������� = ��  ��2 + ��  ��0 + ��  ��1 Λ r ��2 = ��  ��2 - r ��  ��2 

 

 

 


